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IBFrETD (B : 1 - %) <IBSFKER> (B : 1 - %)
= p | FRME [ FRHISE | FRI6E | FRITE = p |[FHME [ FRHISE | FRI6E | FRITE
B SUMBRRLE [ BRURERKLE M BRUMERREE 4 K(HEREE # SUMBRRLE [ BRURERKLE M BRURERREE KR
#a # 16| 100.0 9]100.0 101 100.0 111 100.0| [#& # 131 100.0 131 100.0 10{ 100.0 7] 100.0
A =T BB AR-ER 2| 12.5 11 11.1 - - - - A =T BB HR-ER - - - - 11 10.0 - -
CABERARLED 2| 12.5 - - 1] 10.0 3] 27.3 CABERAREED 2| 15.4 1] 7.8 1] 10.0 - -
IYF - 5448 — - - 1 1.1 - - - - TYF - S5A8— - - - - - - - -
X H T UV - - - - - - 2| 18.2 X H £ U - - - - - - - -
1= 3 Z 3| 18.6 11 11.1 11 10.0 - - 1= £ Z - - 1 7.8 11 10.0 - -
f= & X 1] 6.3 - - 1] 10.0 - - 1= & X - - 2| 15.3 2| 20.0 - -
RAS— - BELNE - - - - - - - -| | R45—-BELE - - - - - - - -
MUK - K DEELY K 2| 12.5 1] 11.1 - - - - TR - TR DERLVK 3| 23.1 2| 15.3 - - 1] 14.3
B - EXER 1 - - - 30.0 - - B - EXECR 2| 15.4 3| 23.0 40.0 - -
£ B N 1 1] 6.3 - - - - -l [ & ® Kk 1 1] 7.6 - - - 1] 14.3
x B 1] 6.3 22.2 - 1] 9.1 = B 3] 23.1 3] 23.0 - - 2| 28.6
3 ) 1t 4] 25.0 3| 33.4 40.0 5| 45.4 % ) ft 2| 15.4 1] 7.8 10.0 3] 42.8
<HPKMEH> (BT 14 - %)
= 2 FTRIAE | FTRIGE | FRI6E | FTRITE | FTRISE
B SRMBRKLE [ BRRBRIUEL M BRRERIEL M BREBRLLL|ME BHERUE
| 29[100.0] 22[100.0] 20[100.0] 18] 100.0] 17[100.0
A =D EE-HAER 2] 6.9 1| 4.5 1] 50 - - 2] 11.8
CAD EHAED 4] 13.8 1| 4.5 2] 10.0 3] 16.7 1] 5.8
TYF - S5A458— - - 1| 4.5 - - - - - -
X H U - - - - - - 2| 111 2] 11.8
1= S c 3] 10.3 2| 9.1 2] 10.0 - - 2] 11.8
1= = X 1] 3.5 2| 9.1 3] 15.0 - - - -
RAS— - BEAE - - - - - - - - - -
Bk - KDL K 5] 17.2 3] 13.7 - - 1| 56 2] 11.8
BAKE - ERER 2| 6.9 3] 13.7 35.0 - - 3] 17.6
£ B Xk 1t 2| 6.9 - - - - 1| 5.6 - -
x B 4] 13.8 5| 22.7 - - 3] 16.7 3] 17.6
i ) 1t 6] 20.7 4] 18.2 25.0 8] 44.3 2] 11.8
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